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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1a 215 2 1.7 5 40.4 100
1b 215 2.7 1.9 8 34.4 100
1c 215 2.5 1.2 4 61.4 100
2a 215 2.1 1.5 6 35.3 100
2b 215 2.7 1.5 5 53.9 100
2c 215 2.9 2 8 35.8 100
3a 215 1.5 1.3 5 29.6 100
3b 215 2.2 1.4 5 44.3 100
3c 215 1.3 1 4 32.9 100

If you are accessing this 
document in a web 
browser and are only 
able to see this single 
page, please download 
the document and re-
open it in Adobe 
Reader in order to fully 
access the exemplar 
material.
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Mark scheme AO1 AO2 AO3 Total 


(b) Discuss the possible reasons for the differences in 
the content of training schedule A and schedule B. 
 
Indicative content: 
The question seeks analysis of the data relating to the 
two training schedules along with suggestions to explain 
the variations between the schedules. 
 
The simplest analysis will conclude that one is harder 
than the other and one of the runners is more 
experienced than the other. Other factors may include: 


• Differences in frequency of training 


• The number of rest days 


• The duration of each part of a session and the overall 
training times 


• The frequency of the work periods 


• The type of training schedule 


• The number of reps in each part of the training 
sessions 


• The intensity of the runs 
 
See mark bands at back of mark scheme 
 


2  6 8 
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Performance bands for question 1. (b) 
 


Band 
AO1 


2 marks 
AO3 


6 marks 


3 


 5-6 marks  
Excellent discussion of possible reasons for the 
differences in the content of training schedules A 
and B. 
 
Answer is presented in a fluent, detailed and 
reasoned manner. 
 
The answer is balanced, measured and covers a 
variety of relevant and supportive examples 


2 


2 marks 
Good knowledge of training 
schedules 


3-4 marks 
Good discussion of possible reasons for the 
differences in the content of training schedules A 
and B. 
 
Answers have some detail and are reasoned. 
 
The answer is balanced and covers some 
relevant and supportive examples 


1 


1 mark 
Limited knowledge of training 
schedules 


1-2 marks 
Limited discussion of possible reasons for the 
differences in the content of training schedules A 
and B. 
 
The answer lacks balance and covers few 
relevant and supportive examples 
 
Answers tend to be descriptive 


0 
No knowledge of training 
schedules is evident 


No discussion is evident 
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	 (b)	 Discuss the possible reasons for the differences in the content of training schedule A 
and schedule B.	 [8]
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Question Mark scheme AO1 AO2 AO3 Total 


(c) Taking part in regular physical activity can lead to 
changes in a sportsperson’s circulatory system 
such as; 


• The heart contracts more powerfully. 


• Heart rate increases.  


• Stroke volume increases 


• Blood is diverted more effectively to different 
areas of the body during activity. 


 
Analyse how these changes can be of help to a 
sportsperson when performing in a physical 
activity. 
 
Indicative content 
Four adaptations to the circulatory system as a result 
of participation in sport/exercise/physical activities 
have been provided in the question. 
 
Answers should outline how the changes would help 
sportspersons! 
 
MORE POWERFUL CONTRACTION OF THE 
HEART= 


• Greater amount of blood pumped with each 
contraction of the heart (SV) 


• More oxygenated blood provided to body / working 
muscles 


• Cardiac Output (Q) increases. 
 


• (Blood diverted to different areas of the body blood 
circulation speeds up) 


• Blood supplied to areas of the body in most need. 
e.g. away from digestive system to working 
skeletal muscles. (Vascular stunt) 


 
Cardiac output increases 
Blood flow can increase by up to 30 times therefore 
working muscles receive a considerable increase in 
the amount of oxygenated blood therefore body can 
continue to work more effectively for longer. 
 
Accept other reasonable responses.  
Important to READ the answer first before awarding 
band and marks.  
 
See mark bands at back of mark scheme 
 


2  6 8 


Total Q2  10 3 6 19 
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Performance bands for question 2. (c) 
 


Band 
AO1 


2 marks 
AO3 


6 marks 


3 


 5-6 marks  
Excellent analysis of how these changes can 
be of help to a sportsperson 
There are strong links to improvement in 
performance 


2 


2 marks 
Good knowledge shown 


3-4 marks 
Good analysis of how these changes can be of 
help to a sportsperson 
There are some links to improvement in 
performance 


1 


1 mark 
Limited knowledge shown 


1-2 marks 
Limited analysis of how these changes can be 
of help to a sportsperson 
There are few links to improvement in 
performance 


0 No knowledge is evident No analysis is evident 


 


 
 
 
 
 
 
3555U10-1 WJEC GCSE Physical Education - Unit 1 (Short Course) MS S22/DM 












Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



3












Highlight



Highlight



Highlight



Highlight



Highlight



Highlight












Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



Highlight



7







Highlight



Highlight





		Binder11_Redacted.pdf

		Candidate D WJEC GCSE SC Q2C (2)

		Candidate D WJEC GCSE SC Q1B and 2C cont (3)












(3555U10-1-R1) Turn over.


7
Examiner


only
	 (c)	 Taking part in regular physical activity can lead to changes in a sportsperson’s 


circulatory system such as:


	 ●	 the heart contracts more powerfully
	 ●	 heart rate increases
	 ●	 stroke volume increases
	 ●	 blood is diverted more effectively to different areas of the body during activity.


		  Analyse how these changes can be of help to a sportsperson when performing in 
physical activity.	 [8]
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Question Mark scheme AO1 AO2 AO3 Total 


(b) Evaluate how improvements to power and 
muscular endurance could improve the 
performance of a rower.  
 
Indicative content 
Improvements to power (speed x strength) could assist 
the rower to improve performances particularly at the 
start of the race and / or when raising the stroke rate at 
the conclusion of the race. 
Improvements to muscular endurance could assist the 
rower to work for longer with less fatigue particularly at 
the end of the race.  
It may also assist with recovery after heats before then 
competing again in subsequent races in the 
competition  
 
Accept any reasonable responses.  
 
See mark bands at back of mark scheme 
 


2  3 5 
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Performance bands for question 3. (b) 
 


Band 
AO1 


2 marks 
AO3 


3 marks 


3 


 3 marks 
Excellent evaluation of improvements to 
muscular power and muscular endurance. 
There are strong links to improvement in 
performance 


2 


2 marks 
Good knowledge of muscular 
power and muscular endurance 
relevant to the question 


2 marks 
Good evaluation of improvements to muscular 
power and muscular endurance. 
There are some links to improvement in 
performance 


1 


1 mark 
Limited knowledge of muscular 
power and muscular endurance 
relevant to the question 


1 mark 
Limited evluation of improvements to muscular 
power and muscular endurance. 
There are few links to improvement in 
performance 


0 
No knowledge of muscular 
power and muscular endurance 
is evident 


No evaluation is evident 
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	 (b)	 Evaluate how improvements to power and muscular endurance could improve the 
performance of a rower.	 [5]
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